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09100000 | 1.1 dwnkihp
1 09132200 | Pkughl, nkgnijup Q2 {hup 510 1000 510000
2 9132200 |[Pkughl, nhgnijup Gz hwp 490 1000 490000
3 | 09134200 | “hqbpughb Junkihp Qz 1hnp 540 4000 2160000
4 | 9134200 |[Yhgkpught Junkihp Q2 Lhwp 530 4000 2120000
5 9134200 |thqhjuyht Junkihp Q2 1hwnp 530 10000 5300000
6 | 9411710 |Ubkmuijwd phwlwi quq Q2 4q 290 7586 | 2200000
7 9411710  |Ubkqyjwd phuljul quq G U 290 7000 2030000
8 9411710  |Ukmqujuid phwljub gug G2 4G 284 7590 2155560
16711200 [1.2 Qpniquunbnbumlwb Ukpkhwikp s
1 16711200 |T-170 wnwihlikg upwljunp Uu hwwn 997000 1 597000
16800000 1,3 gniquuninnkumljmb b wtnwnwhl mhmhum.la-]u.lh
uwppmynpnidikp b wwppwynpoudibph dwukp
1 16311400 |lunnhlidhy Uu hwwn 55000 | 55000
2 16311400 |nwnhtdhy Uu huwwn 14500 7 101500
3 16811100 gynuguiniun kuwljut vmppwinpnudiph twukbip (unnhtidhyh Qs i 2000 2 40000
; wunbpunen)
4 | 16811100 quuquininnbuwwl nuppudnpoudibph dwukp (funwhudhsh Qs S 1700 A7 68000
huidnn nhuly)
k ik in ( A
5 16811100 L}]Lm_)qmm‘mn uwljut wwppunpaudbbpp dwubp (unnhtidhyp as i 2300 s 34500
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u U & I
6 | 16811100 guuquintnbuwfutt wuppunnpoulibph dwukp (ennh Ahsh Qs hurtn 3000 20 60000
nputuly)
L (¥ duk
7 | 16811100 gmuqunbntuwlut vwppuynpnudubph dwubp (junminhtdjish Q2 — 1700 15 25500
wniuljuy) -
i} i [k i1
g | 16811100 gupuintnbuwlwi wwppunpnulibph dwabp (funwhudhsh Qs bt 2000 10 20000
Rl bwuwnlju)
34351400 |1.4 Ulnwnnnkp
1 34351400 |hunlwubgniwght wijwnnn 16.9-28 kpujujuinp (TEREX) Q2 hun 265000 2 530000
2 | 34351400 |hwdwubqnuught widwnnn 12.00 R20_ (Spbinkin) Q2 huwin 150000 4 600000
3 | 34351400 |[hunfwubqniughi wiunnn 11.00 R20 (funiwg) .74 huwn 134000 2 268000
4 | 34351400 |[huniwubqniught wijunnn 9.00 R20 (201 130) a2 [° hwwn 97000 6 582000
5 | 34351400 |hunfwulqnuwht wifunnn 8.25 R20 (AUR-53) G2 hunn | 80000 | 2 160000
18100000 | 1.5 Uwubughnwljwl hwguniun, hunntly wpnwhugoiun b wupuqubikp
i 18141100 | Uppuwnwtipuyhl dlintinglibip Q2 nijq 200 1000 200000
2 | 18141100 |Upjuwwnwbpuyht dinlinglbp G2 9nijq 1000 10 10000
3| 18111100 |Upnwnpuiljub hunnil) hwgneun Ul hwn 15000 66 990000
30100000 1.6 Gpuubiyuluyht dhpkuwibp, uwppuinpoudtibp b iynpbp puguenippudp hwdwlwpghstbiph, nuphyikph b
Juhnijpp
1 | 30192232 |[UYyny poph (ghnhl) Uu hunn | 750 13 9,75
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6 | 39241250 |[Cwnbph dypunn (ubljunanp pugnyp plbtpny) D7, hunn 10000 2 20000 )
7 | 39241250 |Ulpwn uhquidwpgh Q2 huwn 10000 2 "—:Z—O_U-UU
7 | 39221270 | Pwu dknwnului Q2 hunn 1450 6 8700
g | 39221460 |dpaht wmpphp sutthubiph Gz hun 500 10 5000
9 | 39241250 |Ulpuun phpbn upknt G2 huin 4500 2 9000
10 | 39221400 |Uwnl dkinunuljuil QZ hunn 2200 30 66000
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44100000 | 1.13 Ghuwpwpwjub tynipkip b hwpuljhg wpnunpubp | [
1 44118300 |uUhnwnulul phphn Qz hunn 5600 181 1013600 |
2 | 44531191 |dlnwnuiut fungojul 320U Qz Ubwnp 1000 500 500000
3 | 44531191 |Uhwnwnulut junnnyul) 420 Q.2 dknp 1200 1000 1200000
4 | 44531191 |Ukwnwnulwl pngnyuil 40 X 40 2upun S dtnp 1200 84(1~ 1008000
5 | 44531191 |Uhwnwnuut pngadul 20 X 40 1,5ujuin G2 dbanp 800 840 672000
6 | 44531192 |bpQuph dwujun]bb (i) QZ dbkwp 500 400 200000
7 | 44311160 |lnp (hpp wipuup (dnn) Q2 dbkup 960 100 96000
8 | 44111439 [Ubpl’ dnjupuignyb SV Yq 1300 25 32500
9 | 44112730 |Ywpny ulju]unwl ks 5 Q2 huin 1000 100 100000 | |
10| 44112730 |Uwnpnn ujunjunwl dinpp 97 huin 450 150 67500 |
11 | 44112730 |dnpny uljpufunwl hupphkgunn Qz hunn 600 20 12000
12 | 44112730 |4wnpnn ufunjunuy plinnlh 74 hun 4700 10 47000
13 | 44192900 | Quuphy pwhnl, shiwpuipuljui Mwppusuiy/ Qz huin 5000 2 IL!ELT %
14 | 44192610 | Ukju phtwpupulul Q-2 g 600 95 57000
15 | 44192610 |Utkfu p_[111m]uuluuuluh.fSulh[1p[1f' QL g 1350 20 27000
16 | 39221460 [ypaht bkplupupulpub & 4 huin _-_;(]U 30 7?0(7 p
17 | 44831500 |midhy a2 [ 850 50 42500
18 | 44331400 |wpndhy W Q2 hun 2000 1 2000
19 | 44331400 |wpndhy-1.5U Q2 - 2400 T | 2400 |
20 | 44111200 [8kUklun Q2 lg 51 15000 |* 765000
91 | 42415220 (Ul pintunwp Uk wyny Gz huin 5 15000 75000
—2‘2 44161270 |kt gpugdh funnnyul Q.2 dbiinp 400 17— 4800-7
23 | 44163170 [npniywly MNhgplk 0/5 G2 dkiwnp 350 100 35000
24 | 44163170 |unnnyul) (Hhghlk 3/4 G2z Ubkwnp 450 200 90000
75 | 44163170 |nnnywl (bhghtik 1 4 dhwnp 600 200 120000
26 | 44160000 |nwipwppuhy Qz hun 60 4 240
27 | 44160000 [wlljjmbuly Q2 huwn 50 10 500
28 | 44160000 |phpnp 92 hunn 550 | o0
29 | 44160000 |uyjmmunhly wiljnihwl ukpphl phgpw Qz hunn 400 3 1200 1
30 | 44160000 |wpln Yhlunfy 92 huin 1200 3 3600
31 | 44160000 |ypuuwhl Jhnp) G2 hwin 900 4 3600
32 | 44160000 |Jhtiunhy unfbphljuilw -2, hunn 1000 3 3000
33 | 44160000 |upuuyjuny Q.2 hunn 4000 1 4000
34| 44411752 |oph pup > T ham | 36000 | | 36000
35 | 44411751 |uwlhwlgnygh qhmmﬂll‘.l\. 9z huin 6000 1 6000
36 | 42121190 |oph wmlyp winnuiwnplju Gz hunn 8000 1 8000
37 | 44000000 [uwwyih Q2 huin 350 1 350
a8 [ 44331400 |Mpndhy G-70 Q2 hunn 950 10 9500
39 | 44331400 |Npndph C-28 Q2 hwin 680 10 6800
40 | 31221240 |Twnnunw (Uknipljur) G2 hun 300 i s 3 _79()0
41| 31221240 |Rwnunwl hupjush a4 huin 50 10 500
42 | 44000000 |Mbbnypuun 1 x 24 Qz hun 1000 8 8000
43 | 44511220 [<dwghy Q.z hunn 1500 1 1500
44 | 44111414 |Ukpl punbpuwghl Q2 lig 1000 5 5000
45 | 44111400 |Ywjunyh wnwuinwn 9z u/2 1500 22 __3_'90&
46 | 44331410 |Yywfumfp wkl Q.2 U 550 30 il 65(-)0
47 | 44500000 |ppngh Jualub puipl hunlwp 9z huin 1200 I 1200
48 | 44111710 |uwipy l;l.plimh 9.2 U2 5000 3 LE)(KJO



49 | 24911900 |uwihlh unubbia 92 uuiply 4500 8 13500
50 | 44170000 |quuhplw Qz wnntih 1500 1 1500
51| 44411300 [puguipul 74 hunn 20000 1 20000
52 | 44411740 |Qnigqupuinulnlp Q.z hwiwn 35000 1 35000
53 | 44411741 |Qnqupubulniph jpui G2 hun 2000 1 2000
54 | 44411760 [Qmiqupub) pnph poluul Q2 hunn 2000 1 2000
55 | 42130000 |Onpuly G2 huin 6000 1 6000 |
56 | 42130000 |Unpwl thuthnil] pnnniwl 92z Ukwnp 1300 0.6 1300
57 | 39716100 |hunnwlh ghrnigdwh Elijpnpuljub viuppuynpoudibp Qz us2 20000 20 40000
58 | 44221140 |gnukp Q2 hwwn 70000 1 70000
59 | 38621200 |huyljhukp G hunn 10000 1 10000
60 | 44423690 |Yhuwhnp kplpupphunntb Qz hunn 40000 5 200000
61

44300000 | 1.14 Uwpoijulikp, dbinumupupkp b bwpuilihg wpuwnputplkp
1 31321290 |Eikhupuljpul pup 1716 Qz Ukwnp 90 6000 540000
2 | 31321290 |Ljkhwpuljwb pup 1716 Q.2 dbnp |90 9000 810000
3 | 31321290 |Eiklupwlpub pup 1716 9z dkup 112 15000 1680000
3 | 31331100/1 | Eehunpwlwl jwp 2¥16 UMY = Q2 dlinp 360 2000 720000
4 | 31331100/2 | blEhunpwyuwl wn 2¥10 G2 dkwnp 270 3000 810000
5 | 31331100/3 |EiEjupulwb jup 2°2,5 Q2 Ukwp 90 500 905000
6 | 31331100/4 |EiEljpinpuljub pup 2°2,5 Q2 Ukinp 60 2000 120000
6 | 31331100/5 |Ekunpuljwt jup 22,5 Q2 Ukwp 90 2000 180000
7 | 31321280 |Eiklunpulwh pup 1710 UM Q2 utnp 90 2000 180000

31331100 |Ekwnpuljub jup 2716 UP1 Gz Uk 320 2000 640000
9 | 31321270 | bkhwpwljwb pup 1706 Q2 Ukup 70 1000 70000
10 | 44310000 | Utinwgquyjup 3 Q2 g 550 200 110000
11| 44111446 | Zkbwuwh dkynuhy hqupuanp Q2 huwwn 500 450 270000
12 | 31331270 | pwmp wnhudk 271.5 Gz Uk 165 500 82500
13 | 31331270 |qwp wnptdk 274 Yinp Gz AT 600 300 180000
14 | 31331280 | pup wnhtdk 2725 G2 dlinp 240 600 144000
15| 31331280 |pwp wnhldk 272.5 Ynp Q.2 Uk 390 20001 780000
1 44500000 | 1.15 SQnpashplbp, thwljwllbp, pmbwhukp, Juijuhstikp, unipwging phwnubbp, onpwlbp b quuyutwlukp
2 | 31221240 |huphwynnunuly (Uwnhunkq) 1,5ud 24 huin 5 6000 30000
3 31221240 |ptptwupnnunuy (Uuduntqg) 3,5ud Gz hwwn 5 2000 10000
4 | 31221241 | Hniphk) oninnuy Q2 huin 6 3000 18000
5 | 44420000 |Ghbwpwpnippub Uk oquwgnpdynn wypwlp (gnpanpnhdwgwlh) 92 huin 30000 2 60000
6 | 44420000 | Ghuwpwpnippub dbe oqunwgnpdnnn wyypwibp (duguy) - G2 hwiwn 290 10 2900
7 | 44511343 |Quyphlnt (Mwplnhn) 70-80ud kply. 18 M huvnmpynl G2 hun 4000 2 8000
8 | 44511343 |Swyhynt goiu) dhnwngk 15-200d Qz hunn 4500 20 90000
9 | 44511343 |Quwyhynb plannup hunlup Qz hunn 2000 5 10000
10 | 44511343 |Guwyhlint tipljupt G2 hunn 1000 33 33000
11| 44192630 [Ztnniu Gz g 650 % 3250 |
12 | 44192630 | wlnnnuly (rafixa) G2 ilq 750 5 3750
13 | 44531220 | Swihonulubp (waiiba) Q2 Ig 800 5 4000
14 | 44511200 | Qtnph unngubp QL huin 2000 8 16000
15 | 44423200 wumnhduth pugnih 4,20 U Qz hunn 35000 1 35000
16 | 44423200 [uwnnh&wl pugnifh 3,20 U = G2 hunn 25000 1 25000
17 | 44511100 |ubpdpunnnp dheht ywithup Q2 huwin 40000 1 40000
18 | 44511100 |Utilpmuwhnlihs (Puguplu) wipup Qz huin 60000 3 180000
19| 44511330 | dwpunlynguyht hwpywdught upunnunwljugupdhy Q.z huwin 36000 3 108000
20 | 44521190 | plutuuhbibiph Yoduy ko Q.z hunn 25000 4 100000




21 | 44521190 | quuinudl puiwpikph Ynuuy bl G2 hunn 25000 HJU(JUT—?
E 44521190 |npnyjwiljp putuh 2 nud {ﬁ_‘lf‘— hunn 8000 A-I_(;Oitltr)- -
23 | 44521190 |pwbiuh pugmih (nuqumrjung) QL huwn 4000 2 8000
24 | 44511330 \qanmml]ummp&bz Q2 hunn 1000 20 20000
25 | 44511110 |Pwh wigkgnpdwljuil Q2 huin 1000 10 10000
26 | 44511110 |Puwh kb Gz hwwn 1500 14 21000

_37_ 44511110 |Pah phnnbp Qz hunn 1000 10 10000
28 | 44511130 | Ujghqnpdwljul Lt wnyny Qz huin 3000 10 30000
29 | 44511130 |knub ynyny Q2 hunn 2000 10 20000
30 | 44511110 |Pwhj uny Qz hun 1100 30 33000
31 | 44511170 | ®nghatp wnym] Qz huin 2000 6 12000
92 | 44511240 | muthwljupbpul wpgull Q2 hunn 2000 12 20000
33 | 44511240 | wpgul (Uniuwlju) QZ huwwn 2000 12 l’TK&TU—
34 | 44511270 | Unipdpithnpp) Q.2 | huwn 2000 | 2 B TOr
35 | 44511271 Unipélip(uhght suithfy) G2 hun 3500 2 ,}’U()O
%6 | 44511272 | Unip&hp(ubd Gupn) az Fruutn 9900 1| 9900

—-—1’7— 44511220 [Swpuntuwy dknph qnpdhplbp (ni unjnpuluil) © Q2 hun 6000 2 12000
38 | 44511220 | Swpwwnbuwl dtinpp qnpdhplibip (mpug) Qz hunn 2500 2 5000
39 | 44511220 | Swpuinbuwl aknpp qnpshpubp (Uwtghpoylpu L) Q2 hunn 4000 2 #000
40 | 44511221 | Swpunnkuwl dknph qupohplkp (U whnppndiuw thnpp) G2 huwn 3000 2 6000

T 44511220 | Smpuntuwl Anpp qnpdhplbip () Ql, hun 1000 2 2000
42 | 44511220 | Swpunnbuwl aknph qupohplilip (qniphy) Q2 hun 1300 3 6000
43 | 44511220 | Swpwunbuwl dknph qnpahplitip (uunp wnynpljuy) G2, hunn 500 10 5000
44 | 44511220 | Smpunnkuwl dknph qnpshplikp (Uhinunwiljmb yninly) Qz hun 400 5 2000

_2;5_- 44511220 | Swpunbuwy aknph qnpohphbip (Quuhly) Q2 hunn 1000 6 ] _, hﬁ‘—-
46 | 44511220 |Swpuunbuwly dknph qnpdhplbtip (wywg Uy ine ) -2 huin 5000 1 WT
47 | 44511220 | Swpunnbuwy dknph qnpdhpltip (Qughlyh gunhp) G2 hunn 200 30 | 6000
48 | 44511220 | Swpunnbuwy dknph gnpdhpllin (nhpdunnky + -) Q2 huin 2500 4 10000
49 | 233731200 |Mwowupuithy hunnil wljinglikip Q.2 huww 600 2 __I-JT

_g(—lﬁ 44511330 |yumaunwbwb ‘ }?— huin FQSL)L) —j—_i 1 \}ULF
51 | 44511400 |Qnpshpltpp dwubp (whynibwhnlpsh glownhp hnjupnnpny) Q.2 hunn 500 30 15000
52 | 44511400 |@npshpbbiph dwubp (whintuwhnyhsh giewnpp thonw Upehb swith) Gz hun 700 40 7000
53 | 29240000 |ywnpnn gopshp (wpleg wuywlh fupnn) Qz huwin 2500 2 5000

%54 39240000 |Ywnpnn gnpspp (Enwnuiywunh dgpwn) 92 huin 2500 2 5000
55 | 39240000 |fupan gapshp (ohbwpwpulub guibul) qz hwin 500 15 | 7500

_Sg_ 44511370 |Gnpspputph Swdwpnly Qz hun 8000 2 16000
57 | 44500000 |dunl YEnwnubwb Qz hun 3000 8 23000
58 | 44500000 |dinl wnihtphiEbwpl ) Q2 wuntth 1300 5 6500
50 | 44423610 |wpuwgnny duupuybl Sh hunn 2500 15 37500
60 | 44611400 |Upynkp ) Q.2 hunn 7000 5 10500
61 | 44100000 |Zhbwpupuiwb tnuptkp b wpuwnpubp (hppnip o pupujuty) Q2 huwin 2200 30 66000
62 | 44100000 |Thuwpwpulwl Wynupbp b wpnwnpubp (qndpt 1640) Q2 dkwnp 50 150 7500
63 | 44100000 |zhbwpwpulwl bynipbp b wpnwnpwbp (gnppb 20u) Q2 Ukup 90 150 1350¢
64 | 44100000 |ohuwpupulwl bynipbp b wpwnwnpubp (@ndph 32u0d) Q.2 Utinp 280 50 4200
65 | 44100000 |zhuwmupwlub ujngetp b wpwwnputp (Yanmp 24-ng) Q2 hun 400 __::UU -4\;&;&
66 | 44521170 |4nny Epubp H__—- huww 1000 Fﬂ? H%

_67 44111439 [ubpy hbnniughp wpuny G2 huwn 1100 30 3300
68 | 44100000 |chuwpupwlwl bjnuypbp U wpnwnpubp (afih pwph Y1) Q2 hunn 1000 30 3000
69 | 44100000 |Ghuwpupuljwl tyniphip b wpinwnpuiip (Upihynth winpdubul) Q2 hwwn 2000 5 1000
70 | 30192233 |Uppynt (ElEYunpulub wnpdwbwlh hunduip) S ¥4 hun 90 50 4501

71 | 30192233 |Upihynu 9.2 huin 1500 20 3000

1 | 2. Cwpwnpimititip
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